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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(ii) This question paper is divided into four sections — Section A, B, C and D.

(iii)  Section A : Questions number 1 to 18 are Multiple Choice Type Questions. Each

question carries 1 mark.

(iv)  Section B : Questions number 19 to 24 are Short Answer type-I
questions. Each question carries 2 marks. Write answer to each question in 30 to
40 words.

) Section C : Questions number 25 to 29 are Short Answer type-1I questions. Each
question carries 3 marks. Write answer to each question in 50 to 70 words.

(vi)  Section D : Questions number 30 to 34 are Long Answer type questions. Each

question carries 5§ marks. Write answer to each question in 120 to 150 words.

(vii)  There is no overall choice. However, an internal choice has been provided in
Section B, C and D of question paper. A candidate has to attempt only one of the

alternatives in such questions.

SECTION A

1. Identify the sequence of the given steps of an ‘Enterprise Process Diagram’ in
correct order : 1
D Identifying the needs and problems that exist in the environment.
(I)  Identifying a product or service through innovation.

(IIT)  Opportunity spotting by analysing the needs and problems that exist in the

environment.
(IV)  Setting up a project and nurturing it to success.
(V)  Evaluating the ideas received from different sources to find a creative

solution.
(A) ), (V), dD), V), (I)
(B)  AV), @), (1), (V), (II)
(C) (D, ), (V), 1), AV)
(D) D, AV), (O, (1), (V)
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2. Which among the following are the sales promotion activities carried out by any

business for customer promotions ? 1
(D Bonus stock

(I)  Trade show displays

(IIT)  Competitions, coupons, sweepstakes and games

(IV)  On-pack offers, multipacks and bonuses

(V)  Loyalty reward programmes

(A) (D, (Il) and (III) (B) (1), (IV) and (V)
(©) (D, (IV)and (V) (D) (I), (IIT) and (IV)
3. Which among the following are the advantages of going public for any company ? 1

D Increasing accountability to public shareholders
(I)  Need to maintain dividend and profit growth trends

(IIT) ~ Added prestige and visibility with customers, suppliers as well as the

financial community
(IV)  Less dilution of ownership control

(V)  Capital required does not have to be repaid and does not involve an interest

charge
(A) (D), (IT) and (IIT) (B) (II), (IV) and (V)
(C©) (1), dV)and (V) (D) 1), (IIT) and (IV)

4. The price of a soft drink bottle of 500 ml of MSD Ltd. is placed at ¥ 20, while a

2000 ml/2 litre bottle is placed at T 50. This variable pricing strategy is adopted by
MSD Ltd. because of the : 1

(A) Difference in the ability of the consumers to pay.
(B)  Difference in the anticipated business from different customers.
(C)  Difference in the bargaining power of the customers.

(D)  Difference in the order size by the customers.
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5. ‘Environment Analysis is the process of monitoring the economic and

non-economic environment to determine the opportunities and threats to an

organisation.’

Which of the following is not involved in the above analysis ? 1
(A) Data collection

(B)  Information processing and forecasting

(C)  Form of business organisation

(D) A rational basis for developing goals and strategies for business survival
and growth

6. Ramnath is running a sweet shop in a small town. His son Angad completed his
studies but is reluctant to join his father’s business. He came to know about
franchising, which is an arrangement, whereby the manufacturer of a trademarked
product gives exclusive rights of local distribution to individual retailers in return
for their payment of royalties and conformance to standardised operating
procedures. Since a proven business formula is in place, he contacted ‘JaldiRam

Sweets’ to have his franchise and grow his father’s business.

This arrangement will help Angad in : 1
(A)  Losing the freedom to innovate to some extent.

(B) Building credibility and a reputation in the market which requires

significant efforts.

(C)  Sharing the cost for the services (advertising and training) provided by the
franchisor.

(D)  Sharing the risk of franchisor getting bought by other company.
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7. Rupal is a certified radiologist and running a chain of ‘Dr. M.R. Path Lab’. He
notices the uneasiness of the patients during MRI tests. He finds that patients are
afraid of going into closed MRI machines for testing. He is an entrepreneur
having creative and innovative ideas. He got an idea of developing an open MRI
machine. But this proposal involves new or relatively untried technology, having
high risk factors, which may fail to attract investments from public. So, to give

shape to his idea he approached a venture capitalist, as he has to conduct research

at pre-commercialisation stage for which he requires finance.

The stage of business development at which Rupal is seeking assistance from the

Venture Capitalist is : 1
(A)  Seed Capital

(B)  Pre-Startup and Startup

(C)  Second-round financing

(D)  Last-stage financing

8. The products are not sold by the marketers in their generic names because : 1

(A)  They will not be able to pack the product.

(B) They will not be able to distinguish their products from those of the

competitors.
(C)  Fixing a price for the product will be a problem.

(D)  They will not be able to decide the channel of distribution to be adopted
for their product.
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9. Super Industries Pvt. Ltd. is running its operations successfully since 2005. The

company is in need of funds for its expansion plans and for this it has decided to

sell its securities to a limited number of sophisticated investors. The source of

finance used by the company is : 1
(A)  Public Issue

(B)  Rights Issue

(C)  Private Placement

(D)  Offer to Employees

10. Assertion (A) :  In partnership ‘the firm stands bound by the acts of partners.’

Reason (R) : There is an implied authority that any partner can act on behalf

of the firm.

Choose the correct option from the following : 1

(A)

Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct explanation of Assertion (A).
(C)  Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.
11.  ‘Many industries have their unique thumb rules for the relationship between Unit

Price and Unit Cost.’

In Fast Moving Consumer Goods Industry, the relationship of cost as percentage

of selling price is : 1
(A) 30%or35% (B)  50% or 55%
(C)  70% or 75% (D)  80% or 85%
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12. Assertion (A) : A brand or part of a brand that is given legal protection against its

use by other firms is called trade mark.

Reason (R) :  Trade mark is essentially a legal term, protecting the seller’s

exclusive right to use the brand name/mark.
Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C)  Assertion (A) is correct, but Reason (R) is incorrect

(D)  Assertion (A) is incorrect, but Reason (R) is correct.

13. F.A. Auto Ltd. had launched its new Electric SUV car for the middle income

market segment.

From the following, identify the °‘Ecological Factor’ affecting the macro

environment of business which inspired the company to launch this car : 1

(A) An increase in the literacy rate that made people aware about the

environment and its protection.

(B) The government is supporting the companies which are bringing out
fuel-efficient vehicles.

(C)  Now the focus of the company is on transfer of technology.

(D)  The company is more concerned about the impact of carbon and smoke

emission from the vehicle.
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14. Assertion (A) : Money invested in fixed assets results in direct cash inflow for the
business.
Reason (R) :  Fixed assets are placed in service for carrying out the main activity
of the business and are not traded or sold to receive money.
Choose the correct option from the following : 1
(A)  Assertion (A) is correct, but Reason (R) is incorrect.
(B)  Assertion (A) is incorrect, but Reason (R) is correct.
(C) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct explanation of Assertion (A).

(D)  Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

15.  After completing his MBA, Rajeev was not interested in going for a job, rather he
wanted to contribute towards national income by generating employment. He
noticed that now-a-days people are more career oriented. They do not have time to
cook food. He researched and found that a variety of instant food products is a
solution to this.

In this way, Rajeev has not only clearly stated the problem but also identified the
target group facing the problem. By doing this Rajeev has fulfilled the objectives

of which of the following : 1
(A)  Environment scanning (B)  Problem identification
(C)  Market assessment (D)  Trend spotting

16. In India, there are many states which have sulphur-enriched hot water springs.
The locals are using these springs to cure many diseases. Arnav, an entrepreneur
got an idea of developing ‘Naturopathic Wellness Centres’ at these places. For
this, he contacted the concerned government authorities and finalised the deal. In
the name of ‘Rajshree Centre for Wellness’ he started paid wellness tourist
packages for tourists all over India.
The source of idea field used by Arnav is : 1
(A)  Existing product related idea ~ (B)  Market-driven idea

(C)  Natural resource related idea (D)  Service related idea
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17.  Harshit is working as a hardware engineer in a multinational IT company.
Everyday he finds that his one or the other subordinate loses his pendrive having
important data. He has the knowledge, skill, ideas, competence and creative
thinking. And when all these are strategically applied, a viable venture is born. He
spots an idea to develop a watch pendrive, which would minimise the problem of
losing it. But all ideas need not necessarily become sound business opportunities.
These are to be assessed in terms of the potentiality of the opportunity. In this

process of investigation various steps are involved.

The step taken by Harshit in the above referred case is known as : 1
(A)  Product identification (B)  Market assessment
(C)  Generating basic ideas (D)  Technical complexity

18.  Raghav and his three friends want to start an Import-Export business. For this they
need huge capital. They do not want to invite the public to subscribe to any shares
or debentures of the company or accept any deposits from persons other than its
directors, members or relatives. They also want that all the members have limited
liability and members have no right to transfer shares.

The form of business organisation which Raghav and his three friends can opt for

is 1
(A)  Sole proprietorship (B)  Partnership
(C)  Private company (D)  Public company

SECTION B

19. (a) Give the meaning of ‘Business opportunity’. State the two things that an

entrepreneur has to ensure before selecting an opportunity. 2

OR

(b)  Give the meaning of ‘Business Plan’. State any two points how a business
plan helps the entrepreneur. 2

98/S Page 17 P.T.O.
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20. VRSP Cinema, operating 1293 screens in 98 cities of India merged with its
smaller counterpart NOXI owning 230 screens in 21 cities. It created the largest
multiplex chain in the country with over 1500 screens. The reason for this merger
is synergy which would result in cost saving and revenue enhancement. This is the

direct result of factors like better use of idle cash and higher debt capacity.

Now they not only gained market share but also eliminated competition between
each other.

(a) Give the meaning of ‘Synergy.’

(b)  Identify the form of the synergy discussed above. 2

21.  Rohit started a leather shoe business with his brother. Both were very excited

about the new venture. With meticulous planning and a lot of hard work they were
able to sell 7000 pairs of shoes in the first year. While calculating the profit they
came to know that revenue generated was equal to cost. They were happy as they

were not at loss and could move towards earning profit in the second year.
(a) Identify the component of financial plan discussed in the above case.

(b) Give any two points stating the usefulness of this component for an

entrepreneur. 2

22. (a) State any two reasons how a successful sales strategy can help the sales
representatives. 2

OR

(b)  Give the meaning of ‘Below the line’ approach of Promotion Strategy. Also
state its purpose. 2

23.  Explain how ‘Level of operation’ and ‘Cost’ help an entrepreneur to assess the

potentiality of an opportunity. 2
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24. The Current Assets and Current Liabilities of Aniket Ltd. as on 31 st March, 2023

were as follows :

Current Assets — Cash

Inventory

Accounts Receivables
Current Liabilities —  Trade Creditors

Short Term Loans

Outstanding Expenses

Calculate Gross Working Capital of Aniket Ltd.

SECTION C

T
10,000
60,000
20,000
15,000
20,000

5,000

25.  Daksh, an automobile engineer with an MBA from a reputed college, launched

‘Captain’, a model electric car. He initially priced the model at a premium so that

fewer sales were needed to break even. He used this strategy to target early

adopters and environmentally conscious consumers who were willing to pay a

higher price for an electric vehicle.

As the demand from the higher-end market saturated and he was able to recover

most of the investment made to build the car, he gradually lowered its prices and

introduced more affordable models expanding the customer base.

(a) Identify the method of pricing initially adopted by Daksh for launching the

electric cars.

(b) State any one advantage and any one disadvantage of the strategy

identified in (a) above.

26. (a) State by giving any three points how ‘Follow-up’ as an element of

operational plan helps an entrepreneur.
OR

(b)  Explain the three formats of a business plan for Start-ups where audience is

the external stakeholders.
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27.  Sunil completed his studies and decided to start his own business. His father
advised him to start any enterprise through the franchise route. Sunil approached
‘My School’, a leading playschool chain and agreed to their terms and conditions.
It was agreed that Sunil would be provided significant amount of assistance in
starting and managing the school. He would use the name and trademark of ‘My

School’ and would pay a fee or royalty in return.

(a) Identify and explain the type of franchising.

(b)  Also explain one more type of franchising other than the one identified in
(a) above. 3

28.  Supreet inherited a big mansion on the outskirts of the city. He decided to convert
it into a vacation home — ‘Sukoon’ a getaway from the hectic lifestyle. He
observed that there is an increasing willingness in the people to go out on short
breaks. The location of the vacation home is just perfect for a two to three days
staycation. The bookings for the same could be made online by logging on to the
website or on the online portal of State Tourism Department. The room rent was
fixed keeping in mind the disposable income of the prospective guests. This
venture would facilitate development of the surrounding areas; creating new

employment opportunities for the people living around that area.

Quoting the lines, identify three factors of macro business environment being

referred to in the above case. 3

29. (a) Explain the concept of ‘Cash Conversion Cycle’. Draw a diagram showing

the ‘Cash Conversion Cycle’ for a trading business and for a manufacturing

business. 3

OR

(b) What is meant by ‘Financial Intermediation’ ? Why is financial
intermediation required ? Name and explain the market which plays the

important role of a financial intermediary. 3

98/S Page 23 P.T.O.

Get More Learning Materials Here : & m @ www.studentbro.in



Qs Yy

30. () foora wd et & fefafead swren = ausmsu 5
(i) % TohTeh T SRR
(i) ~ ATVHEAT H gER
(iti) IS oo U5
(iv) ST T ATUTET
(v) USRI A Jar
areraT

(@) SIS ol Toh AEwaul foIIodT o &9 H ‘TR i GHATEY | €31 gRT AR

YT T o Tehrgl IR SHRUTT ShT Sooid SHITSTT | 5

31. Weh ST o foTu Suctsyr foad Uenfaid vt & €1d o &9 & UfSToar-fasmenl” sl g9=mey |
UfSTeT frareTent shi foreel = fareiwdTaTy shi Soci@ shIfvY | 5

32.  (F) U HESHE BT T TS wrt o st i o Rl o fergatt @
HHATRY | 5
YT
@) Vg I IEA (S THIET) T 8 2 YR ohl Ug= Ueh ST hi fohd Teh
HEIAT Ll € ? W = lieh @resy, (S8 weh set Saf ol geee o
TFATE | 5

98/S Page 24

Get More Learning Materials Here : & m @ www.studentbro.in



SECTION D

30. (a) Explain the following reasons for mergers and acquisitions : 5
(1)  Acquiring new technology
(i)  Improved profitability
(i)  Access to funds
(iv)  Acquiring a competency

(v)  Entry into new markets

OR

(b)  Explain ‘Logo’ as an important feature of branding. State any four reasons

of using ‘Logo’ by the organisations. 5

31.  Explain ‘Angel Investors’ as a source available to an entrepreneur to raise finance.

State any four features of angel investors. 5

32. (a) Explain any five points of difference between a ‘Public Company’ and a

‘Private Company’. 5

OR

(b) What is ‘Trend Spotting’ ? How does trend spotting help an entrepreneur ?

Explain any four ways in which an entrepreneur can spot trends. 5
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33.  Mampur Sugar Mills processes cane juice to make a healthy variant of refined

sugar, Desi Khand. It also does ancillarisation of the husk of sugarcane by using it

for medicinal purposes and biodegradable packing paper.

There is separate plant for each product and the information regarding selling

price, variable cost and fixed cost for each product is given below :

Variety Desi Khand | Liquid for Medicines | Packing Paper
Selling Price (%) 155/kg 100/1itre 20/meter
Variable Cost (%) 75/kg 25/litre 10/meter
Fixed Cost (%) 8,00,000 1,50,000 80,000

(a) From the given data, calculate the break-even quantity for each product.

(b) How is the calculation of break-even quantity helpful for an entrepreneur ? 5

34.  Surveen is a manager at XPL Ltd, a renowned name in manufacturing allopathic
medicines. The business is expanding and the owners of the company are
planning to add ayurvedic medicines as an additional product line. Surveen is
given the responsibility of preparing the business plan for the new venture.

He outlined the introductory cover page and completed the steps sequentially in
the business plan before deciding about the proposed venture’s form of
ownership. Each type of business differs in terms of commencement procedures,
legal constraints, financial requirements etc. That is why it is important to
categorise the business first and then choose a legal structure for it.

(a) Identify the component of the business plan discussed above.

(b) State eight points that must be mentioned about this component of the
proposed business plan while describing the proposed venture’s opted

form of ownership. 5
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, 2024
SUBJECT NAME: ENTREPRENEURSHIP (066)(Paper CODE 98/S)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2 ‘“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may
be assessed for their correctness otherwise and due marks be awarded to them. In
class-X, while evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall be
given only after ensuring that there is no significant variation in the marking of individual
evaluators.

6 Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.
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7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9 If a student has attempted an extra question, answer of the question deserving more marks

should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of 70 marks as given in Question Paper has to be used. Please do not hesitate
to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

° Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

° Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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Supplementary Marking Scheme (2023-24)
Subject: Entrepreneurship (066)

Class: XII
Section A
Answers Marks
1 C.LLHLV, I, IV 1
2 B. lII, IV, and V 1
3 B. lll, IV, and V 1
4 D. Difference in the order size by the customers 1
5 C. Form of business organisation 1
6 B. Building credibility and a reputation in the market which requires |1
significant efforts.
7 A.Seed Capital 1
8 B.They will not be able to distinguish their products from those of the |1
competitors
9 C.Private placement 1
10 A.Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct | 1
explanation of Assertion (A)
11 D.80% or 85% 1
12 B.Both Assertion (A) and Reason (R) are correct but Reason (R) is not the | 1
correct explanation of Assertion (A)
13 D.The company is more concerned about the impact of carbon and smoke | 1
emission from the vehicle.
14 B.Assertion (A) is incorrect, but Reason(R) is correct. 1
15 B.Problem Identification 1
16 C.Natural resource related idea 1
17 A.Product Identification 1
18 C.Private Company 1
3
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Section B

19 a. Meaning — Business opportunity can be described as an economic idea | 1+% +% =2
which can be implemented to create a business enterprise and earn profits.
Before selecting an opportunity, the entrepreneur has to ensure two things-
1. There is a good market for the product he is going to produce
2. The rate of return on the investment is attractive to be accepted by him

OR

b. Business plan - is a comprehensively written down document prepared by | 1 , 1, 41, -
the entrepreneur describing formally all the relevant external and internal
elements involved in starting a new venture.

Business plan helps an entrepreneur in the following ways:

1) helps to understand the feasibility and viability of the proposed venture,

2) facilitates in assessing and making provisions for the bottlenecks in the
progress and implementation of the idea

3) discusses the potential for success of the project along with the risk factors
involved.

(Any two)

20 a.Synergy — It is the combined entity between the participating firms which |1 +1=2
determine the increase in value of the combined entity. In other words, it refers
to the difference between the value of the combined firm and the value of the
sum of the participants.

b. Operating synergy

21 (a) B.E.P/ Break Even Point 1+%+% =2

(b) Usefulness of BEP for an entrepreneur

BEP helps in assessing:

1) Minimum level of output to be produced

2)Effect of change in quantity of output upon the profits.
3)Selling price of the product

4)Profitable options in line of production

(Any two)

22 a. A Successful strategy helps the sales representative in the following ways: |1 +1=2
1.1t helps the sales force focus on target market customers and communicate
with them in relevant and meaningful ways.

4
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2.1t conveys how sales representatives need to know how their products or
services can solve customer's problems which ultimately helps the sales force
to spend time in targeting the correct customers at the right time.

OR

b. Meaning - Below-the-line methods are very specific, memorable activities
focused on targeted groups of consumers.

1+1=2
Purpose - The purpose of these activities is to develop the brand by creating
awareness and building a brand profile, which include: sponsorship, sales
promotions, public relations, personal selling and direct marketing.

23 Level of operation 1+1=2
This is a crucial test for product/service identification. Depending on the use
of the product/service the entrepreneur will produce it in a cottage industry or
a small scale—industry or a large—scale industry.

Cost

The per unit cost of the product at a particular level of operation is comparable
with that of other competitive products, which will ultimately help in deciding
the sale price. This will help the entrepreneur in assessing the potentiality of
an opportunity.

24, Gross working capital = Sum total of all current assets of the business. 0.5 marks for
Gross working capital = Cash + Inventory + Accounts Receivables formula +1

= 10,000 + 60,000 + 20,000 mark for
— Rs 90 000/- calculation + 0.5

for final answer
=2

Section C

25 a. Price skimming/ creaming method. 1+1+1 =3

b. Advantages of skimming price (any one)

1. Price skimming helps the company in recovering the research and
development costs which are associated with the development of a new
product.

2. If the company caters to consumers who are quality conscious rather than
price conscious, then this type of strategy can work in a great way for a
company.

Disadvantages of skimming price (any one)
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1. This strategy can backfire if there are close competitors and they also
introduce the same products at lower price then consumers will think that the
company always sells the products at higher prices which will result in
consumers abandoning other products of the company also.

2. Price skimming is not a viable option when there are strict legal and
government regulations regarding consumer rights.

3. If the company has a history of price skimming then consumers will never
buy a product when it is newly launched, they would rather wait for a few
months and buy the product at a lower price.

26 a. Follow-up element helps the entrepreneurs in: 1+1+1=3
1. Developing ways to review the present situation with regard to materials,
work-in-progress and finished goods.

2. Evolving ways to expedite the performance of those departments which
lag behind.

3. Removing obstacles in the way of production by suggesting remedial
measures.

4. A properly planned follow-up procedure is helpful in dispatching errors
and defects in the work.

(Any three)

OR

b.The three Formats of a Business Plan for start-ups where audience isthe [ 1+1+1=3
external stakeholder are:

1.Elevator pitch: It is a three minute summary of the business plan's executive
summary. This is often used as a teaser to awaken the interest of potential
funders, customers, or strategic partners.

2.A pitch deck with oral narrative : A hopeful, entertaining slide show and
oral narrative that is meant to trigger discussion and interest potential investors
in reading the written presentation, i.e. the executive summary and a few key
graphs showing financial trends and key decision making benchmarks.

3.A written presentation for external stakeholders: A detailed, well written,
and pleasingly formatted plan targeted at external stakeholders.

27 a. Business Format Franchise Opportunity 1 for
This is the most popular form of franchising. It is wherein a company identification
provides a business owner with a proven method for operating a business
using the name and trademark of the company. The company usually + 1 for
provides a significant amount of assistance and in return charges a fee or explanation

royalty in return.

b. Any one from the following types of franchising:
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Product franchise business opportunity: Manufacturers use the product + 1 for any one
franchise to govern how a retailer distributes their products. The type of
manufacturer grants a store owner the authority to distribute goods by the franchising = 3
manufacturer and allows the owner to use the name and trademark owned by
the manufacturer. The store owner must pay a fee or purchase a minimum
inventory of stock in return for these rights. Some tire stores are good
examples of this type of franchise.

Manufacturing franchise opportunity: These types of franchises provide
an organization with the right to manufacture a product and sell it to the
public, using the franchisor's name and trademark. This type of franchise is
found most often in the food and beverage industry. Most bottlers of soft
drinks receive a franchise from a company and must use its ingredients to
produce, bottle and distribute the soft drinks.

Business franchise opportunity ventures: These ventures typically require
that a business owner purchases and distributes the products for one specific
company. The company must provide customers or accounts to the business
owner, and in return, the business owner pays a fee or other consideration as
compensation. Examples include vending machine routes and
distributorships.

28 i. “there is an increasing willingness in people to go out on short breaks.”— (2+%)x3=3
Social Environment

i1. “The bookings for the same could be made online by logging on to the
website or on the online portal of the state tourism department.” —
Technological Environment.

iii. “The room rent was fixed keeping in mind the disposable income of the
prospective guests.”- Economic Environment.

29 The cash conversion cycle (CCC or Operating Cycle) is the length of time | 1+1+1=3
between a firm's purchase of inventory and the receipt of cash from accounts
receivable. CCC represents the number of days a firm’s cash remains tied up
within the operations of the business.

STOCK
DEBTORS OF
GOODS

Operating cycle or cash conversion cycle for trading business
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Operating cycle or cash cornversion cycle for manufacturing business

OR

b. Financial Intermediation - At times, we have people that have money that 1+1+1=3
they don't want to spend rather save for future use. On the other hand, there
are people who want to spend money to undertake some economic activities
but don't have the required amount of finance. The role of transferring
financial resources from the surplus units to the deficit units is what is referred
to as "Financial Intermediation”.

Requirement of Financial Intermediation - Ensure the most effective
allocation of the mobilized financial resources by directing the same either to
such projects which are capable of the highest yield or to the underdeveloped
priority areas where there is an urgent need to promote balanced and
diversified industrialization.

Market which plays the role of financial intermediary: Capital Markets -
it is an organised mechanism meant for effective and smooth transfer of
money, capital or financial resources from the investors to the entrepreneurs.

Section D

30 (a) Reasons for mergers and acquisitions: 1+1+1+1+1
(i) Acquiring new technology- To remain competitive, companies need to | =9

constantly upgrade their technology and business applications. To upgrade
technology, a company need not always acquire technology. By buying
another company with unique technology, the buying company can maintain
or develop a competitive edge.

(if) Improved profitability- Companies explore the possibilities of a merger
when they anticipate that it will improve their profitability.
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(iii) Access to funds- Often a company finds it difficult to access funds from
the capital market. This weakness deprives the company of funds to pursue its
growth objectives effectively. In such cases, a company may decide to merge
with another company that is viewed as fund-rich.

(iv)_Acquiring a competency-Companies also opt for M&A to acquire a
competency or capability that they do not have and which the other firm does.
(v) Entry into new markets-Mergers are often looked upon as a tool for
hassle-free entry into new markets. Under normal conditions, a company can
enter a new market, but may have to face stiff competition from the existing
companies and may have to battle out for a share in the existing market.
However, if the merger route is adopted, one can enter the market with greater
case and avoid too much competition.

OR

(b) LOGO- 'Logo’ (Short for Logotype) is an identifying symbol for a product
or business. It can be any distinctive design, mark, sign which stands

associated with the entrepreneur's offering. 'Logo’ is an important feature or !
part of branding. +
Reasons/Purpose of using ‘logo’ by the organizations-
1) Logos are a critical aspect of business marketing. As the company's major
graphical representation, a logo anchors the company's brand. (1x4)
2) Corporate Logo are intended to be the "ldentity” of an enterprise because
of displaying graphically enterprise's uniqueness. -5
3)Through a set color combination, fonts, images, impression and/or pattern,
logos provide essential information about a company that allows customers to
relate with the enterprise's core brand.
4) Enterprises normally resort to logos as a short path for advertising and other
marketing materials.
5)Logos act as the key visual component of an enterprise's overall brand
identity.
(any four)

31 Angel Investors- is an affluent individual who provides capital for a 1+(1x4)=5

business start-up and early stage companies having a high-risk, high-return
matrix usually in exchange for convertible debt or ownership equity.

Features of angel investors:

Get More Learning Materials Here : & m &N www.studentbro.in



1) Most angel investors are current or retired executives, business
owners or high net worth individuals who have the knowledge,
expertise, and funds that help start-ups match up to industry
standards.

2) Angel investors bear extremely high risk and are usually subject to
dilution from future investment rounds. They expect a very high
return on investment.

3) Apart from investing funds, most angels provide proactive advice,
guidance, industry connections and mentoring start-ups in its early
days.

4) Their objective is to create great companies by providing value
creation, and simultaneously helping investors realize a high return
on investments.

5) They have a sharp inclination to keep abreast of current
developments in a particular business arena, mentoring another

generation of entrepreneurs by making use of their vast experience.

(Any four)

32

(a) Difference between public company and private company:

Basis Public company Private company

Members [ has minimum seven | has a minimum of two and a
people to maximum of fifty members
commence with no | excluding its past and present
upper limit to employees.
membership

Transfer of | does not restrict restricts the right of its members

shares any transfer of to transfer shares.
shares

Invitation | invites the public to | prohibits an invitation to the

(1x5)=5
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to the subscribe for its public to subscribe for any
public shares, debentures | shares or debentures of the
and public deposits. | company.
Minimum | has a minimum has a minimum paid up capital
paid up paid up capital of of one lakh rupees
capital five lakh rupees.
Suffix uses the word 'Ltd." | uses the word 'Pvt. Ltd." at the
at the end of its end of its name.
name.
10




OR

(b) Meaning- It means identification of new trends.

How Trendspotting helps an Entrepreneur: This will help the entrepreneur
to understand the market and produce goods or provide services in sync with
market trends.

Ways in which the entrepreneur can spot trends:

1.Read Trend: They regularly read the leading publications and websites

(Yo+ ¥5) = 1

1 mark for each
of the four ways

affecting their business. This could include industry publications, trade | 1 x4 =4
association sites, major newspapers, key business magazines, thought leaders
and influential bloggers.
2. Talk Trend: Talking to people is an equally important trend-spotting tactic. (1 + 4 =5
They get involved in a specific industry*s trade association and attend events
both online and offline. They also take advantage of social networking tools
like social network websites and forums. They even start or join groups on the
networks and see what people are talking about.
3. Watch Trend: There is no substitute for getting out in the marketplace. They
make it a point to regularly go where their target customers meet often.
4. Think Trend: As an entrepreneur begins gathering all their information
regularly, they will start to develop a “trend spotter mind.” As they absorb
what they have read, heard and observed, they will start to make connections
and observations that will lead to business-boosting insights.
33 (@) 1 mark for
Variety Desi Khand Liquid for Packing formula
medicines Paper N
Selling Price in Rs. (A) 155/kg 100/liter 20/meter
1 mark for break
Variable Cost per 100 75/kg 25/liter 10/meter even quantity of
ml in Rs (B) each product
(1x3)=3
Contribution in Rs (C) 80 75 10
(A-B) +
. ] 1 mark for any
Fixed Cost in Rs. (D) 8,00,000 1,50,000 80,000 one reason
Break Even Quantity 8,00,000/80 | 1,50,000/75 | 80,000/10= 143+1=5
= Fixed Cost (D) =10,000 kgs | =2,000 kgs | 8000 meters B
Contribution (C)
11
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(b) Break Even Quantity is helpful for an entrepreneur in following
ways:-

1. It helps in setting profit goals and sales targets.

2. In a manufacturing environment, it helps in determining the products
that are not contributing to meet the fixed expenses and thus brings
up the item for discussion in management meetings about its
continuity.

(any one)

34 (a) Organisation Plan 1+(%x8)=4

(b) The component of the plan must mention the following points:
1.The terms and conditions associated with the selected form

2. Lines of authority and responsibility of members of the new venture
3. The names, designation, addresses and resumes of the members

4. Stake of members in the organisation

5. Roles and responsibilities of each member

6. Procedure for solving conflicts/disputes amongst members

7. Forms of payment for the members of the organisation

8. Voting rights, managerial and controlling rights of the members.

1+4=5

12
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